PR K =7 P T i 76 2= e — L Yt 88

BRARRERE &®=: 1930092300
Y410 . 67 Rl &P HpA A B Je
Ti%lj:ﬁ ﬁinft_ﬁ_: *x ok k k Xk X H;\‘%: 23 %ﬁiﬁ);ll_%: 20246694“1
40 [l % 7 193] Bh ik 4 &;’;
(%) |[FHE | WwEZ] ) y L
JE 04 1t 48 0.06 |£0.01 R
J&. 96 Far 2 AR 0.54 [£0.33
R AE 1.47 [£0.60 .
4 6.39 [£2.04]6.50 -
T 4 7.80 [£1.97]9.00 | .4
g [UTRE 23.72 | £3.50(16.00 | .
N A 9. 44 |£2.92]35.50 ®
I - 4 0.38 [£0.23]0.50
B 4 0.49 [+0.32
i | R 1.25 [£0.61[1.00
% AR A 0.86 [ £0.61[5.50
- d 4 0.02 [£0.05
e 4 0.06 [£0.07
g | u |[HR% 0.06 |£0.09 W
5 H 1% 0.03 [£0.05]1.00
[R5 2T A0 i 0.57 [£0.30
% RS PAR ][] 0.92 [£0.41 ik
: o %) 21 74 R 7.41 [£1.91]2.50 . R .
W ([ GHEamE 10.75 [£2.36/1L 00| L BM, A, REET.
z |ERYIHR " .
; SRR 2. HREMAEIRK.
7 ERSAHR . X o 4o X
" B G E A 005 1009 3, Ao AR BRG]
A A R 0.47 [£0.84
o [RARCAR 22.78 [+7.04]9.50 | & ARWERE, UARDTAERES . BER
% A B RAERE.
v | FIRSEZAR 0.01 [£0.04 o
M %j%%ﬁééﬂmﬂ 0.14 [T0.19 5. WRE4IMELI. 5%,
XA 3.00 [£0.88]2.00 N
7 TEEEZAR RN B 6. 4 K3t R ERMMS6A, R E MR
AN (ZEXZAR 0.104 [+0.16 E f, EIE’J‘E+Z: Hﬂ/J\*ﬁﬁﬁﬁ\ ﬁ&ﬁj‘/ﬁ
B (RAZER 0.71 [£0.42 W
I éﬂé,ﬁfﬂﬂ@ 0.16 |£0.21
il ,Anﬁmz?mﬂa 0.03 [£0.09
Ilﬂ féﬂz?ﬁ%lﬂa 0.53 |[£0.52
SENHAR 0.55 [£0.59
5 |BRERAR 0-3
B DMHEEZMAR 0-10
o b A B MR 10-30 36
;E Y B % 40-70 20
BN EZHAR 0-30
4 |RBC X10'%/ |HGB g/L| =17
= [PLT X109/ [RC . .L
* TWBC X109/L RLARIGA, M/MRMES W, 5 ECMPNT] §E
v [NAPAR4ME. 2194 |POX: K, BiLFEEBCR/ABL. JAK2. CARL. MPLZ:4H
o INAPPRTEE:  91% PAS. KERKE.
qu o |ZH A PN Bk 18% NAE:
o RSNk + NAE-Naf:
EE- St 0 Bire%: 200
RYEHE: HE: ERBAW: 2024-12-09 @& HW. 2024-12-10

Rk RARE UMRAZEF RV



